P7: Rational Expressions

1. The expression 2_2—8 simplifies to
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3. The expression #—2=t simplifies to
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8. When the denominator is rationalized, .
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9. The domain of the expression —
Xc—x—2

A {x|x+—-1,x+2}
B){x|x#—-1,x+ 1}

C){x|x =+ 2}
D) {x | x # =2}
E) {x | x # —1}

2 2 2 o3 o2
10. (a +2ab+b )+ (a ab-2b ) _
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11.The expression — ad + ! , simplifies to
x“—5x+6 2—Xx
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12.The domain of the expression ~—;
x“—=5x+4

A) (—0,1) U (1,4) U (4, )
B) (—0,2) U (2,4) U (4, )
C) (=, 1) U (1, %)
D) (—90,2) U (2, )
E) (—0,0) U (0, )



2 x%2-1 x2-x

13. x  GrD@E-3)  x3
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E) —1
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X2+5x+4
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(x+4)3-9x-36"

17. The domain of the expression

A) (=90, =7) U (=7,=4) U (=4,—-1) U (-1, 0)
B) (—o0, —7) U (=7, )

C) (o0, —4) U (=4, —1) U (—1,0)

D) (=0, —=7) U (=7,—1) U (—1,0)

E) (—0,—=7) U (=7, —4) U (—4, =)

A) (x +4)/(5x + 8)
B) (x +4)/(3x + 8)
C)(x+4)/(2x + 3)
D) x/(2x + 11)

E) x/(2x + 3)
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19. The expression
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1+x 1-x

21.The expression @ simplifies to

1+x 1-x

A) -2
B) 2
C)2/x

1+x

x x*-4 . op
: . simplifies to
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22.The expression :
x+2  x—4 x2%2-6x+
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B) 4x
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23.The expression (x —1- ;) + (1 + " xZ) simplifies to
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24.The expression — — simplifies to
x2+x-12  x%2-16

x(2x-9)
(x=3)(x+4)(x—4)
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2x—9
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x+4 3

25.The expression "x—jfzz simplifies to

xX—2 X

xX“—x—8

A) ——
)x2+x—2
x2+x—8
x%2+x-2
x“—x—8
C)5——
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E)
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26.The expression -

x2—-12xy+36y2  x2-5xy—6y2
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simplifies to



27.The Least Common Denominator (LCD) of the expression —sz_pgp_s —

2p
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A)2p+1D(@—-5Q@p-2)
B) (2p+ 1)*(p —5)(3p — 2)
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28.The expression ’1"2‘4 simplifies to:

m+2

A)m? +2m + 4
B)m? —2m+ 4
C)m? +4m + 4
D)m? —4m+ 4
E)ym? +2m—4
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29. If x—"+12° =— thena + b =

xX—2

A)9
B) 18
C)2
D) 10
E) 12

. ox ly—xyTt | .
30. The expression % simplifies to:
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x-7 5 x2—4x+4
31. + - =
x—2  x%2+2x+4 x3-8

(x=2)(x+2) .

32. The domain of the expression D) (x=3) is:

A){x|x # 2and x # 3}
B) {x | x # 3}
C){x|x#2and x # —2}
D) {x | x # 2}

E) (=00, )



5x-7] . x-3 __
3 1-32] - ==
A)x+3
B)x —3
C)x—1
D)x+2
E)x — 2
1-—> +3
34.If 22 =22 thena+ b =
s X+b
A) 2

B) 3



x=y

35.If x < y, then W =

A)-1

248x+16 4
36, f22XTI0 L XF —xiz,thena+b=

x242x-3 x-1 x




. ye—-1 .
37. The expression i simplifies to

A (V-DEy -1
B) y(y/y — 1)

Q)+ DEy+1D)
D)(y+ DRy -1

3 x—1 L x*-4 A .
2-x + xz—x—Z) T 3x+3 (x—B)?’ thenAd+ 5B =

38. If (

A) -4



ab~1-pa~1
39, —— =

a~1-p-1

a-b
B)a+ b
Cla—>»
(D) —a—b

40.R = 11_i If R, = 0.20hms and R, = 0.8ohms, then R =

R1 Rz

A) 0.160hms
B) 160hms.
C) 6 ohms.
D) 32 ohms.
E) 160ohms.



is

41.The domain of the expression —
x“+x—2

A) (=00, )

B) (—2,0) U (1, )
C) [0,1) U (1, )
D) (—2,0) U (0, )
E) (0,2) U (2, )

42.Which one of the following statements is TRUE ?

A) VA + B = VA + /B, for any positive real numbers A and B
B) (A+ B)® = (A + B)(A% + AB + B?), for any real numbers
Aand B

A

C)— = 4 + é, for any real numbers A, B and C
B+C C B

D) 7100 + 7101 =8 X 7100

E) Va* = A, for any real number A.
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3 x3-8 6x—3
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